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Aim: Yo determine +he valiue ot a quvtn small restance byusing 4

carey foctery BYId%LQ :
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Apparah s
Caty Foster Bridge, hwo equal cesistances Hhick coppec whee STOID,
frachonal waiatain box , unkdown low resisbance bake oy, one wQy

k€Y, galvlnaomekrer, conNechNg wiIts

Theony:
P & @ are o equal resiskance €, x i an unkDown cesiskanca Y S

erachonal resisrano box

D !
i€ Df' IS the balgne point,
X+ L P+ L)
Y+ (WO0-L)p + R

B
@
whert, 0= r<istance per unik \engk ot the wire.

e ncl resistanc@ ak A R C regpechvcly

o, &=

L =
On (Qhte r'ch("\ﬁCJnDCld X & VY, et Dy he the balance Pd\ﬁi“ anen,
Y+ 2.0+ (2

P =
@ ¥ +(100-25)P +B

Dictcince AD 4 -

A, = disktance AD,
1 to baoth sides,

adchng

whert |
x Y +100p+ &+ B

(N X (2,

(“ompr:lrmg

X+Y 4100P r 1 B
x +(\00-2,)P+R

7+(i00'1|)P+6

v+ (10o-2)e+ B = ¥t (100-0,0p + @
( Q-)'_-Q.)D

=)
X=¥Y =
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L9)
POS| TION OF BALANCE POWT
WITH COPPER BTRIP IN S ol
) Right & 1\ gef 1 L5-4 T
/ Q 2 3 "X b= |
; 7 (U ) \g \ LY, |
i e (~°*"T'.“ C<rm) (cm) (2,-2,) |
#'. ol 4.5 5645 14 || 000t |
2 o2 33 5% -] | 00095
3. o3 365 Go 335 || 00123
4. 04 34 543 ‘ 53 J 0:015%
|
< |

\b) For unknown low resistance :

MeqQn P =0"012043 A [cm
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| _ Known 1 (INKNOWN RESISTANCE Bl P=@ +
S:No ResISruntt = %
@ () Wik 2, (em) | Right &' (e Cern) P(8a'-21) ()
v oA Sl 10 25 35 LO3IBRR3
2 02 1R-5 325 10 - 11301
3 03 153 39-8 64 G na25338
W R 13- 3 33 59 5 |- 136053 5
Q5 Q04 345 54| 'R05626 3
o 2D 922 ’ 49 -4 1-344 394
i |

Mean (P) = 111599%% n



DererminQhon of P

lot » X" be a shopt thick coppér swip gl zer0o resisSkanco ancl ¥'be a

Frachon of an O - Following e scame pyocodurd as abowve Jet ¥
a 1§

be the chstance ot the balancg paint Fromm A when X' & y' gre in the

posihoan b the chagramm  whep X' & ¥' e nterchanged 18t Fhe balanc

pont be ata diskance 0, from A then

Vs (99-08)p

:y'

ﬂ:."nnt

Calculation:

P=agha - g =4 S5ca 2y =55Scm
ﬁ)‘ﬂg: \4Lm

0= 04 = o0o0Fd Nlcrn

(4
o1t PeoR.n 0= 23cen s = 5B ¢
ﬂ;‘_“.ﬂ.'—alc_m
D= 03 - 0:0095-nlcm
2L alllabexperiments.com
2 P=o3n 0 = 36Scm 2,%60cm
25-R,2 33 55U
p= 932 - ooR%flon
DERS
4. Pzg4 5L, 0= zdacm, 3= 593 cm

-E') -..-Ql = aseﬁcm

p= O% = 0018 alem

S >




P=0o-5 = 00163 .njem

s 00163 Llem

0
l
]
o

)

Mean D= 00QR4E 1t 00095+ 00128+001S2 1 ©QIGS + G 0161

6

= 090130493 alcm
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Pereceinahon of low rsistance X
P=at p(H-0)=01*t G013043(35) =1.038223 .0

-

2.1 P= Qa2+ ogou3nad3(30) = 11301 N

2| P= 033 oorrod2(6a:6) =11483F32.0
4| P= 04 +t001R0C4A3I(SY'5)= LIFEOSHH N
S.

1\ pe 663 N

P=065+ 0013043 (54:1)

i

P= 06+t 0013043 (49:4) = |:19443343 0

Mean = 11599588 D

Resul: The value ci the guwen unkNowd fow resSiskance 1s 1ISA988 N

by Careyfosier's Beidge

precaunons ancl Sourdes ot excan:
The ends Of the connechNg WIrKS should bé cleain anclall connechons

COUER A

shouid) be hgnt:

| { /
Lt %X Jut @l AU s BN

v

T 4

A g Bt [

senblhvhy e resistances ol the four carens

For briclge fo hawvt hugh

o the~samme order:
=hould be ¢ E S T

-



